L*g54L*85.2,u

LABJND lightnessL* g5 » normalized

AY/IAY, CIE tristimulus value difference
AVIAY, AY normalized toAY,

L% g5.94 to the background lightness_* 85,2.u
3 - 6 L*gs = (Ya) In (1 +aY) [1d]
a=0,3411 1=88,23  ta=258,6 b=g1f7 2
normalized tristimulus value Y differenceg
dy/idy,=1+aY)/(1+aY, 1 3d
5 1,810 4 L= ( )1 ( ) . [3d]
* :
I' "
1  (L*85,2/L" 85,20=1, my=1,01 R ) R
L% g5 5,508 Y218 R — Y,=18, dY,=0,08, (1Y/Y,)=0,004 ’
e, application [(dYY(dY,)]=1, m=2,08 ¢ application
. range = || fremmm e s - '_o pplication
0,149 ¢ 1 0.187 range
o , &« 10 'Y,=18100y o 0,1 & =-=" 0 .Yu—18100y
=2 -1 0 1 2 logY - -1 0 1 2 logY¥
hec6l-1a hec61-2a
(AYIY) 1 AYIY), CIE Y sensitivity (YIAY) I (YIAY), CIE Y-based contrast
SISu=AYMIAYrY), Nnormalized to AY,/Y, CICu=(VIAY)(YiAY), Normalized to Y /AY,

6 L*gs= (Ya)In (1 +aY) [af || 3 L*gs = (Ya) In (1 +aY) [1h]
a=0,3411 t=88,23  t/a=258,6 [2f] a=0,3411 t=88,23  t/a=258,6 [2
tristimulus value Y sensitivity tristimulus value Y contrast

4 (dYIY) 1 (dYy/Yy) ’ (Y/dY) / (YydYy)

=[(1+a'Y)3,‘Yr5ﬁQ(1+a'Yu)/Yu] [3f] S[Y/(L+aV)]/[Ye/(1+aYy)] [4h]
. L*g5,2,7508 Y,=18 d¥,=0,08, //d¥,)=222; 19
% N  [(Y/Y)/(YidY)=1, my=0,31 ST
2 . application 1 """""""_'—‘I‘
[(@Y/YLEYIY)]=1, m=-036 . 0,888"ge e’ . application
--------------- "o 0,29% range
Y,=18, dY,=0,08, @Y/Y,)=0,004 '
0,1 1 10 ,Y,=18100 0,1 7 10 "Y,=18100
0 ¢ 0 A4
-2 -1 0 1 2 logY - -1 0 1 2 log¥
hec61-3a hec61-4a

hec61-3n




